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Note:- You have four choices for each ObJCCtIVC type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting o filling two or mg
question. Write PAPER CODE, which is printed on this question paper, on the both sides of th

otherwise the student will beresponsible for the situation. Use of ink remover or white corr?m fluid is not allowed

1rcles will result in zero mark in that
Jhswer Sheet and fill bubbles accordingly,

©_ © | ® [ & GYESTIONS o
. . Sl g H70% | 1
, 10/, 7o 7 Fraction form of*’Mj;ﬁ/0 is ‘4‘}6/"(70 %

200 20 12 120 20 % of 600 is ¢-2076600 | .2

[l /]
3.5% 2.5% 5.5% 4.5% Zakat is deducted at a rate of -4'—(//&5/‘/(“(’
A asto | enpebiiad | ehjpedauiad | enjedoaied Sty ol | 4
None of These SP>CP SP<CP SP=CP Profit is earned when:
3o S (f'{/_: b;!_f/lr _u_‘lé:fclq.t‘/d’bui"vgﬁ/zf;%’&; 5
Profit Bonus Premium Mark up | The return earned by the bank on loan is named as
JEE das S uF wE IS dueadszs| 6
Sales Tax Excise duty Income tax Tax The tax in addition to the price of the article is called.
5 Y ~ 4 i Sl s
240 R ;,wuﬂ’ L uogy’ ¢ / 7 ‘
An integer A natural Arational | Anirrational C ‘LU‘L:(‘/? !
Number number number ] 15
A b AR
Natural Characteristics Common N wifr‘{zb’)’ziJ’u‘rWi ki B
e, S Logarithm Mantissa | The Logarithm calculated to the base * 10’ is called
’ . 3 G q n*x0 .é;.y?/d/ﬂ!aﬁnﬂ 9
Third term of a,=n+3 when n %
a\ A Rl & AU B = JuniruBaia S| 10
If A and B are two sets, then A U B = ?
(1,0) 0,0) 0,1 (1,1) | Thecorordi origi
* = = ) o-ordnates of origin are ‘.'u,!Z,n_l_/ 2 Crby 11
oy z 30 For2,6,11,17,.. as is ?ggééJas J2,611,17,.. | .12
I sl el i ] ] ’ :
s el 1" The middle valuesgdl&faéd;mf/;uﬁ;lf_ﬁ/"‘&( .13
—— Mean Median Mode fthe d i i i .
Ol'the data arranged in numerical order is called
{ e . d’f(x):‘.nm_y.fx.ﬁ4<x<12 SO =21 14
4,6,8,10,12} 234,56 .
{ } {3,4,5} (34,56} If f(x) == 4 Sx <12, wherexisa multiple of
° 2thentherangeof f(x) is
bl by Lost 1
> re 01& 2 7 = ; 3
Geometric Mean Median Mean Mode Thiegeore ~+GMQ’1’/”£J:"~’/U:)”.J(£;'{,” 15
which occurs most often in the set of data is called
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Answer briefly any Six parts from the followings.

Define direct’proportion.

ox2=12 S f ez Limga $f e ditn 240y
) N P VR )

Find the ratio of first quantity to the second in its lowest form <L S (P‘;»r’uff T s § /uJ /1,&3’&4 G

1500 Km,1200 Km.
Write 56% as fraction in its lowest form.

Express 0.065 decimal as percentage.

1500 Km,1200 Km.
A PuTS AAs6% (i)
S S A10.065  Gv)

Calculate the amount of zakat on an amount of Rs 5,00,000. -é pl"‘ ‘o‘}'/j/,., H /J 4‘_.115,00,000 )

Calculate Ushr on a rice crop amounting Rs 4,90,000

produced by artificial resources.

Find'»the marked price when SP=Rs 515.20, Discount=8%,

Find the selling price, when MP=Rs 2760, Discount =5%,
What'is meant of cost price?
Answer briefly any Six parts from the followings.
Define Saving Account.
What sum would borrow in Rs. 174 as markup at 5% in
4 yéars.
Define Excise duty.

521x10° x12
2x10?

Simplify and write answer in Scientific Notation.

Iflogx = 4.4236 then find x.

Define logarithm.
Find the number of terms inan A.P If a;=3 d=4 a,=59
Find A.M between/7 and 3v7

Write First two terms a,= el

Answer briefly any Six parts from the followings.
Define Arithmetic mean.
Define Binary relation.
Define Cartesian plane.

What are measures of central tendency.

Write the first two terms of a,=

514-3/4,90,000 & N SUkdS S baluigs= /i i
e P
=31} 2 82515204 s, =80 LR et B0t (vid)
Ao ln=21604 102 A =51 L I 23 jed (i)
e pesied (0
6%2=12 -Jf/j’uui/"‘él]t‘?cd/c.u‘fgbbn -3/dlr
E et @)
o LI s Tai T pS5rd Lewddoe /i G
an/lwlg/u;//
ZE 8 us Gid

3
2DAV X2 g 2 iz G

2x10?
_Eebadfxinlogx = 44236/ ()
-é_g/";&j-ﬂ(ﬂ (vi)
a=3 d=4 8,259 ZeP S f Gt (vid)
s n LT 3VT (il

a,= -317 “dfrfj wdf @

6x2=12 S ez Linge e tdivn 440y

A T YPT A ©)

_E"_{.._g/jd/};}/él: (i)

LIl N Gid
?‘gjl/gc,djg.g(u@/df/ Gv)

-ér;"/ JJ(_;:‘/'JZ.“: 317 W

// 938 - 0923 - 30000  P.T.O



— W=y

“ind GM between 4 and 9.
IfA={1,4,7,8}, B={34,5,7} then find Ay BandAnB.
Convert 25°C into °F

For the Set ofdata . Find the Range by writing formula

Part It
Note: Attempt any Three Questions.

~-=02)--

SaD-1-23

6,8,13,11,18,27,23

8x3=24

5(a) A Factory makes 600 suits in 9 days with the help of
20 machines. How many suits can be made in 12 days
with the help of 18 machines.

(b) Adeceasedlefta property of worth Rs. 45,00,000. Ifhe left
behind a widow and two sons, work out the share of each,

6(a) Distribute Rs. 33,000 as a profit in a business
regarding three persons if their shares are in the ratio
3:5:3 3

(b) Whatis the difference between simple and compound profit
on Rs. 25000 for 4 years at 5% P.a.

T(a) Theprice ofabicycleis Rs. 3500. If 16 sales tax is charged,
then calculate the amount of sales tax on 50 such bicycles.

()  Solve with the help of logarithm. 62.14 x 6.32 x 0.015

8(a) Find three G.Ms between 2 and 32.

() 1fA={24,6},B={3,69,12} C={4,6,8,10} then prove that
AV(BUC)=(AuB)UC

9() Draw the graphof y = 2x — 3.

(b)  For the data 3,5,6,8,8,9,10, find mean and median.

A9 (i)
-ﬁcr\ AUBAIANBI%B= {34,57}A={1 4,781 @c
U F25°C (viid)
N T 1y o TR o
(o -

aﬂb\@m_hhﬁa_\rﬁnh\%\rvm

B LA E Ly 600U U959 LU 20 S B (i
Lusheer& fuin2esiluss

U1 26 . &-2445,00,000 %w‘_ﬁc‘w L
DU L e Ut st ]
LmM\m\, %R%_Qm\% &-1233,000 U2 A6 L
On3i53 ) U £

bt e g, 2 s e u 4449125000
| AT NI

In1677, \d\r\m m.\h-.bm'&%cn\m%%\u_&
-m\ﬂ%r\mﬁ\u&rwcﬁﬂoﬂ:_

6214 x 032 x 0.015-ZE F s u S P 8/
Vsl o n L322
=itInA=(2,4,6},B={369,12} C={4,68,10).)1
AV(BUC)=(AUB)UC:yS
y=2x-3&5/

L H sl 3,568,89,10 515
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation, Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
el S uEeses | wels s w&-’(ﬁ/, S SuzsluPi |
Mark up Discount Bonus Premium | The periodic instalment to be paid by the insured is called
31
33.;.% 33% 1% 3% % in terms of percentage is ufylf*‘dg 2
17:15 19:15 15:19 15:17 | Lowestformof75:95is -/ PulTd75:95 | 3
S WO 5554421100000 | .4
2500 ‘ T !
R - 22008 o Zakat on an amount of Rs 100000 is. s
-b'nyf,.»(uu'a.u.’:,ngw’..,.«gu:gﬁzrdﬁgmu‘f,{l-? o]
11 1 1 1 1 1 1 ) "
28 nig 28 753 Ifthere is one daughter and agantic grand daughter, their
share are respectively
Sl xwdoud Tl 100+ ¢ éid'uw (‘f"a_&f.-‘:——g ;nl_;/.»."#f < u:»’)/’b"»‘z/q 2’:)?(}1’”:«?5/.&2. .6
100 100
[@‘T::'i% cox PRI CP-Loss Profit-SP | SP=?  Where SP>CP
Vi -
X L4 N7 N 7 " -7 T ey wm—— W W W W W
bl bl Kyl ol besl —_n . n
Arithmetic | Harmonic il i H= o' called -t H = 5E) ol
Mean Mean ean x &
w Ak %74'/0'?): UJG{J?'{' w;fwg c.'_l"gb‘/q;lgfgﬁv::’:ﬁj,-‘]'ul,yj-_{%g@i;/_l}’u/ -8
Excise duty Sales tax Income tax Tax
The form of tax which the buyer pays on a
manufactured item at the time of purchase is called
Ju il Yy sie u’fq‘ffn sa | 9
Base Exponent Radicand Rad;f ) .
i B 2 A Vil g2 43 | 0
Radical Int Irrational Rational \/——— §o : T
nteger siiEBar number 2+ \/§ is not a radical, because 2 + \/§- is
30 5
5 3 34 Nexttermin 12,162127....is < WP Ji412,162127. | .11
+2v2 2v2 -2V2 V2 GMbetween 1 and8is  SeWhsd 2ol s l8a1 | .12
Cokuss | ity | (et | Dpect <0 AuBUC)=@UB)UC]| .13
Intersection | Demorgan’s | Associative | Commutative | 4 U (BUC)=(AuUB i
= U C,is called
| ofsets Law Law Law IS )
(6} (5} (4} (4,5.6) CR=27 nR = {(4,5), (5,4), (5.6), (64)}.)1 | .14
IfR={(4,5),(5,4), (5,6), (6,4)} then Range R=?
- 5 4 j x=c Ly=202x=y—6|.15
For y=2in2x = y — 6 we have x =7
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Answer briefly any Six parts from the followings.

Express the following decimal as percentage 0.845

0.845 ZE LS dS 60500

E o~ - - -‘ . -
If 84% of book consists 0f 420 pages. Find total Number of pages in the book. L VRS Cad afJ u.‘.' .,,lf;‘ ng}") % = |#€420.284% K._.,U/‘f( fi

Define Direct Proportion.

If a:b=2:3 then find the ratio of 6a: 5b.
Calculate Zakat on silver amounting to Rs 3,00,000.

Define Zakat.

Define sales price.

Find the selling price, when M.P=Rs.395.75, Discount=8%

Find Marked Price When SP = Rs515.20
Discount = 8%
Answer briefly any Six parts from the followings.
What sum would borrow in Rs.174 as Markup at 5% in

4 years.

Define Markup.

Convert 5000 Riyals into Pak rupees. 1 Riyal=Rs 22.4000.

A computer price is Rs. 34800 inclusive of 16 sales tax.
What is the original price of the computer.

Define Excise duty.

if the annual value of a flat is Rs. 6,00,000. Then find the
sales tax at the rate of 15%.

Express in exponential form. V81 a8
If logx = 2.0374 then find x.

Define Mantissa.

S P e

J/¢# 6aish Fnaib=2:3 /i

P58 i U1Ine_5s3,00000=AS S5 i
AN

Sl Ve zdsjed

A =8 axds il =395.75 Lo S e sl

il = 51520 & Lyt e diits
LE =8

6))
€)
Giii)
Giv)
)
(vi)
(vii)
(viii)
(ix)

6%x2=12 _u_‘fd:l,u?/:’?ﬁlzuzcéfc,d(f_}b» -3/(']1)’

i LiIng 14 Shey fUst & e ada i
-anzlﬂ)lﬁ/dy

ol

I Riyal=Rs 22.4000.- 25} Ut Ugs 3/l Ui 5000
e def Ko 1348008 U2 L
i

oy bk

-eji-’,','-vf KU p815%5 04 3,600000847 b 2B )i

V8laB &t f P duesd
gt Sxin logx = 2.0374/1

v
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- " Answer briefly any Six parts from the followings. 6x2=12 -q.’)}, .:,Ll:‘! L7 gl Lt 42U
Write the first two terms of @, = 3n — 5 | g /d.uf‘f (}/uj.';d/ a‘:i BZ:n j /SJ‘J f(i).
Find the A.M between V7 ,3v7 kil /(‘)1"‘ e nlNT T G
Find the G.M between 9 and 5. S AU Gii)
Define Set. -Q/be.’/".tf% Gv)
IfA={2,3,4},B={1,3} then A x B=? AXB=? jA={2,3,4}B=(13}] ()
Represent the point B(3,2) on graph paper. Ny ,gn.il/ /B3,2) (i)
Define Cartesian plane. -u.‘."g - /‘7 & Soiwma gty {vii)
Define Median. -ufﬂ - /‘.’. J <oy (viii)
Find the range of given data: 10,18,9,6,22 10,18,9,6,22 :qfrﬁ’wb’;vi&,; (ix)
Part I R >
Note: Attempt any Three Questions. 8x3=24 -U.'/ 4,;" ezl c_éi’:gﬂr’
5(a). A factory makes 560 fans in 7 days with the help of 20 machines. U FES60UE U TS 8 e suf U0 s
How many fans can be made in 12 days with the help of 18 machines? LAEGSEEL L2 ilusts

(b) An amount ofRs 4,00,000 left as an inheritance s to be distributed ~ (§ U/ § Uzt 38 Uk Ao o LI Gr o1 FhS ®
among a widow and four daughters. Find out the share of each. -d,,f ( oS Ll pe :f"lu&’ 4¢1,4,00,000

6(a). Distribute Rs 33,000 as a profit in a business regarding three u’.?.&f:’_’ ﬁj ASRE S 8} &-1233,000 5 A0 L1 (a)6
persons. Iftheir shares are in ratio 3:5:3. 353 U L
(b) What sum of money would produced Rs. 630.50 in three years J?f‘_ 4-14630.50 O ;' 1P 19 T J %) (3 J u; g ®)

at 5% compound profit. Ce sl
7(a). The price ofa tricycle is Rs. 4000. 1f 16% sales tax is charged,  ( 16% 4L f1 Sl ¢ 1,40008 S ELGL (a7
then calculate the amount of sales tax on 30 such tri cycles. =3 //(J"" Jg x 4uy‘? L3019 Lbng Key ¥
(b) Using Logarithm to evaluate 69.13 x 0.34 x 0.014. =2069.13%034%0.014 2_nZ /. erf K9 (b)
: LS
8(a) If3 and 6 are two A.Ms between ‘a’ and v’, find ‘a’and b’. Y DT 3630 n L D ST (@8
(). Provethat (ANB) N C = AN (B n C)if. AANB)NC=4n BnOSZet ®)
A=1{235,79} B={1357}C={234,5,6} A=1{23579} B ={1,357}C = {2,34,5,6}
9(a). Draw the graphof y = 2x — 3 y=2x-3 -z buiS (a9
(b) Find the standard deviation and variance for the values -z (}"‘ ey M A dJ‘lyb’:lréié__; ®)

1,2,3,4,6,8,11. 1,2,3,4,6,8,11
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